&F0 545 i = X 15
j;rﬁlzmﬁﬁzﬁﬁﬁ‘ﬁﬁ __ SREBEE
SR ks w0 W e w4 [P PERERTIEEETA RS
W FEAS AR 1T B T LR P 50% 1.0% - fEP 6§EP 6f8 i

T b Kk — | BSER | bW LR YR LRTE

RErT AWEE 2 T B TR KR 50 | 1.0 — 70 5EH 55
Ak X — | BRAR | PbME bHvE phME LU
fErT A 3 T B g — | BEAR | PhME LRV LhYE LY
AT TR 4T H Eeein — | WEgR | k¥ bkvE phdE phre
Fidt e 5T B AT LA DI
1 FRSEAR AR X 50 | 1.0 —|  —|# 55 55
2 LREEEER < ALK 50 1.1 - —|F 68+ 68
e A% — | BRAR | bW bRE LT bR
SR1TH A AR X
1 AL - JEERE ARk P 22 P 50 | 1.1 —[FF 52 35 35
2 LREEBR T LR IR 50 | 1.1 —[F 57 43 43
[iREaR A% — | BEAR | PhME PR M PR
AR2TH T L X
1 SR AR X 50 | 1.1 —| [ 38t 38
2 LEEEBR T LA 50 | 1.1 = [ 43 43
(ke |1 — | B | Lb¥E MR MR LLTE
A£R3TH T LR I
1 ML - JEseR ARk AR 42 Xk 50 | 1.1 —[f 55t 35 35
2 bRCER < i LA R 50 | 1.1 = 67k 43 43
AL — | BRMR | LRMH bhYE LR LhYE
AR4TH A AR Kk
1 H¥E - JESRE IRt R 2 K 50 L1|f b4t 60 35 35
2 EEARR WE IR K 50 | 1.1|F 66 75 43R 43
[k (%57 — | BEAR | fhYE LR LhYE LW
4R5TH T LA R sk
1 FRSEEE R R X 50 | 1.0 —| | 46 48




1.

ST 545 v R XK 25
HXITE 4 : SeATh SREBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
W 455 TH 2 ML - ACSRA TR R A2 i 50% 1.1% - fEP 3%3 3f7 ’
SRE1TH A L Xk
1 FESRAYE R AR X 50 | 1.1 — | 48F 4§
2 HERAE LR RKIR 50 | 1.1 — | 40 40
3 EELE R MR 5 | 1.1 — —|H agf 46
LIk — | WEgR | k¥ bkvE phdE phre
SRE2TH AT LA DI
1 Fgl - Ab8E ARk R 42 X 5 | 1.1 — | 37 37
2 LREEEER < ALK 50 1.1 - —|F 405 40
e A% — | BRAR | bW bRE LT bR
SRE3TH M LA K 5 | L.1 —| | 40 40
LRIk — | BEHR | Ph¥E PR¥E phME RRYE
SIRE4TH AT LA g bR 5 | 1.1 —| | 46P 48
[R5 — | BE#L| MY bRWE RRUH P
SRES5TH AT LA (X Ik
1 R SRR R AR 1 PR A 50 | 1.1 —| [ 48+ 48
2 FEESEE AR 50 | 1.1 = - 40 40
3 LRCEBR < i AR R 50 | 1.1 = | 48P 46
AL X — | B | LbME MR MR phTE
ASRE6TH A LA K ik
1 EESEAYE AR fRF K 50 | 1.0 - = 48 48
2 P« JESRA TR IR A2 X I 50 | 1.1 —| —|# o 40
b gk — | BB#R | fhHE bbb pRvE
SRETTE A R K ik 50 1.1 —f 61 40 40
b — | BRAR | LM bRME LEYE LM
=R M RS K 50 | L1 —|f 54 39 39
L Kk — | BRAR| LB LkYE b pLIE
HE1TH e — | B | LB LRME LEHE LM




&F0 545 i = X 3E
HXITE 4 : SeATh BRARBE
e R ks @ A o w4 [P PEEERTIBEITOGES
I| HEA N —% E%ﬁ%; J:I:f; I:I:i”g J:I:é I:I:Z‘;l ’
K| HAB1TE A L Xk
1 FESRAYE R AR X 50 | 1.0 —  —F 52 52
2 HERAE LR RKIR 50 | 1.1 —  —|F 55F 55
[ik:3g (=% — | BEAR | PhME LRV LhYE LY
mAs2TH A AR R i
1 BRI R AR R AE X 50 | 1.0 — s 5o 52
2 SR HRERIE 5 | 1.1 —  —# 39H 39
L IR — | BEHR | Ph¥E Lk¥E  LRHE LRYE
BMUA3TH TR b A X
1 FESEAE AR R 5 | L.1 —H 634 394 39
2 LRk i LR K 50 L1 —F 7T B2F 52
[EEEIE (A% — | B |t RRYE bR bR
mAB4TH [iReaR ok dme
1 FESAYE AR R X 50 | .1 - |+ 524 52
2 SR R KR 50 | 1.1 —F 63% 39% 39
3 LEEEBR T LA 50 | 1.1 = 77 52t 52
(ke |1 — | B | Lb¥E MR MR LLTE
PN T LR I
1 FESEAYE AR RAF X 50 | 1.1 —[F 65 39 39
2 EESIRYE L ARAT IR 50 | 1.1 —F 83 31 31
3 bR AL IR 50 | 1.1 =~ 38t 38
b gk — | BB#R | fhHE bbb pRvE
Kiil1~6TH it — | BSHR | LY LLVE LLYE LT
KET1TH T LR Xk
1 FESASRE AR R X 50 | L0 —| —|h 53+ 53
2 PR ARAE IR 50 | 1.1 —|  — 40 40
AT X% — | B | LB LRME LEHE LM




&F0 545 i = X 1H
HXITE 4 : SeATh SREBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
K| KET2TH N —% E%%; J:I:Zf; tl:i”g J:I:é l:l:fgl ’
KET3TH A L Xk
1 FESRAYE R AR X 50 | 1.0 —  —F 52 52
2 HERAE LR RKIR 50 | 1.1 —  —F 52 52
[ik:3g (=% — | BEAR | PhME LRV LhYE LY
KET4TH A AR R i
1 BRI R AR R AE X 50 | 1.0 —| | 51 51
2 SR HRERIE 5 | 1.1 —|  —# 51 51
3 LREEEER ALK 50 1.1 - —|F B0H 50
e A% — | BRAR | bW bRE LT bR
KRET5TH TR AR X g
1 RS AR fe K 50 | 1.0 — | 48F 48
2 R R AR PR 50 | 1.1 —[F 64 47 47
3 LERCERR ML X 50 | 1.1 —F T 48 48
T i — | BEHR | Lb¥E bh¥E LhME HLTE
KET6TH A LR R
1 FESEEYE AR HE X 50 | 1.0 —| - 48 48
2 JESEYE LARAT KR 50 | 1.1 - —|H 47 47
3 LR A bR < T L D 50 | 1.1 = " 48P 48
itk Rk — | B | fhHE HME HME fhHE
KET7TH AT LR Kk
1 SRR AR 50 | 1.0 —[r 52 g 48
2 FESBE L RE KR 50 | L1 —f b4 47 47
3 LEER i LT 50 1.1 —f 65 48 48
b — | BRAR | LM bRME LEYE LM
fi] A Esein — | BE#R | bW b YR pLTE
A1 - 27T H EaetH — | BRAR| LB LkYE b pLIE
a4 T LR XI5 50 | L2 —| | 5o 52




&F0 545 i = X 5
j;rﬁlzmﬁ%  SkET __ SREBEE
SR ks w0 W e w4 [P PERERTIEEETA RS
Fo| AIERHET b X —% E%ﬁ%; J:I:f; I:I:i”g J:I:g I:I:Z% ’
2y 1R £ — | BRER | IhMY HYE LR LY

#®IF1-2TH Exs — | BRAR | PME LY LhYH LY
RIE3TH LS 50 | 1.1 — 47 47
[ik:3g (=% — | BEAR | PhME LRV LhYE LY
®IF4TH A AR R i
1 BRI R AR R AE X 50 | 1.1 —| 44 44
2 SR HRERIE 5 | 1.1 —| | 34 34
3 LREEEER ALK 50 1.1 - —|F 44 44
e A% — | BRAR | bW bRE LT bR
#ES5TH A AR X
1 PR AR A 50 | 1.1 —lF 7o 34 34
2 LREEBR T LR IR 50 | 1.1 —|F 68 44 44
[iREaR A% — | BE#L| MY bRWE RRUH P
gaEL1LTH T LA Xk 50 | 1.0 —[ 704 50 50
b ik — | AR | LhME LhHE kMR phIE
A2 TH LTS X 50 | 1.0 =t 89 5P 51
(ke |1 — | B | Lb¥E MR MR LLTE
gAML TH T LR I 5 | 1.0 - = s s
itk Rk — | B | fhHE HME HME fhHE
weWaTH e — | BRER | PLUE LLWE LYE LLYE
FETE Ecenn — | BRMR | LRMH bhYE LR LhYE
| BEFL1TH A AR Kk
1 FESRAYE AR fRAF 50 | 1.0 — R 4T 47
2 FEREE HARAE IR 50 | 1.0 —IF 62/ 361 36
3 LEEZER < AT R 50 | 1.1 — T3 47 47
L Kk — | BRAR| LB LkYE b pLIE
WERSE2 T H T LR (X I




1.

&F0 545 v R XK 6
HXITE 4 : SeATh __ SREBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
o| e 2 TE | SR AR o | o] e oo "
2 By E ORI 5 | 1.0 —| — 3¢t 36
A Kk — | BEMR | Pb¥Y bovE bhiH LY
fXE3TH T L Xk
1 FESAORE AR AR X 50 | 1.0 —| R 4T 47
2 FERAELRERE 50 1.0 —f 62 36 36
3 ERCEBR< THET{LFRRE IR 50 | 1.1 — T3 4T 47
b Xk — | BEAR | bhBE LhiE LhHE phEE
WRFELTH A A X 1
1 FRS R - B AR TT h X 50 | 1.0 —| 4T 47
2 FEapyEHRFRIR 50 | 1.0 —|  —|#F 36t 36
3 LRk IR 50 L1 —F TIF AT 47
[EEEIE (A% — | B |t RRYE bR bR
ek T LA X 5 | 1.1 - —fF 48F 48
T i — | BEHR | Lb¥E bh¥E LhME HLTE
JE#1~5TH gt — | AR | LhME LhHE kMR phIE
MR Eee: — | B | fhHE HhME HME fhEE
NRER1 - 2TH EE807 — | B | Lb¥E MR MR LLTE
/JNET1 - 2TH Eetin — | B | LbME MR MR phTE
/NET3TH A LA K ik
1 SRR R R AT 50 | 1.0 —| = 44 44
2 SR R IR 50 | 1.1 = 34 34
b gk — | BB#R | fhHE bbb pRvE
S| MAREELTHE it — | BSHR | LY LLVE LLYE LT
HMAPE2THE AL A X Ik 50 1.1 —F 73 s1H 51
[iskcaRAre: — | BEAR | fhYE LR LhYE LW
HMAE3TH EaetH — | BRAR| LB LkYE b pLIE
MAFE4TH AT AR I 50 1.1 - —# 51 51




&F0 545 i = X TH
HXITE 4 : SeATh BRARBE
e R ks @ A o w4 [P PEEERTIBEITOGES
| MAEATH b X —% E%ﬁ%; J:I:fg I:I:i”g J:I:g I:I:Z% ’
MAESTH £ — | BRER | IhMY HYE LR LY
MAEESTH A LR K 50 1.1 - —|f 51 51
Ak X — | BRAR | PbME bHvE phME LU
W) AL R X Ik 50 | 1.0 -~ 54 54
LIk — | WEgR | k¥ bkvE phdE phre
£ H BT AT LA DI 50 1.0 - —H 4l 41
b Xk — | BEAR | bhBE LhiE LhHE phEE
B 1 T H A A X 1
1 FRS R - B AR TT h X 50 | 1.1 —| | seH 56
2 FEapyEHRFRIR 5 | L.1 —|  —|# 56t 56
3 LRk IR 50 L1 - —|F 56+ 56
[EEEIE (A% — | B |t RRYE bR bR
B2 TH [iReaR ok dme
1 FESAYE AR R X 50 | .1 —# 53+ 564 56
2 BRI R 50 | 1.1 —[F 69 56 56
3 hEREBRL LR X 50 L1 =t 77 56 56
(ke |1 — | B | Lb¥E MR MR LLTE
Y +BEAE1 - 2TH &8 — | BE# | PEHH EWE KV bt“!%‘
CEFER1TH b — | B | fhHE HME HME fhHE
CEYER2 TH [T EHRERR 50 | 1.1 -l - - -
AL — | BRMR | LRMH bhYE LR LhYE
LEVERITH [ 50 | L1 —[f 84 eoh 60
A Kk — | BSHR | LY LLVE LLYE LT
TEAERA4TH E=¢iin — | BRRR | LbMY beYE LhMH LEUE
CEVERSTHE  |[fifE TR 50 | 1.1 - —H st 50
L Kk — | BRAR| LB LkYE b pLIE
+ R AT AR I




1.

ST 545 v R XK 8
ﬁfﬁlzmm:%ﬁm __ SREBEE
SR ks w0 W e w4 [P PERERTIEEETA RS
L +=8r 1 FE Al A R X 50% 1.0% fq: 4E¢ B{EEP 3f2 i

2 AR DK 50 | L.1|F s4ff ey 3P 31
3 FERAE LRAEE 50 L1|f b4t 614 35 35
4 bEEER TE TR X 50 | 1.1 eefft 771 | —
[ik:3g (=% — | BEAR | PhME LRV LhYE LY
#wHFE1TH T AR X
1 BRI R AR R AE X 50 | 1.0 —| | 38 38
2 SR HRERIE 5 | 1.1 —H 63 28 28
3 LREEEER ALK 50 1.1 —|F 77 38 38
e A% — | BRAR | bW bRE LT bR
HwHAFE2TH TR AR X g
1 RS AR fe K 50 | 1.0 —  —|# 38F 38
2 RSB R AR KR 50 L1 - —|F 28F 28
[R5 — | BE#L| MY bRWE RRUH P
#HF3 TH T LR K dek
1 R SRR R AR 1 PR A 50 | 1.0 —|  —F 45 45
2 LREE R A LR K 50 | 1.1 - - - -
(ke |1 — | B | Lb¥E MR MR LLTE
wHF4TH T LR I
1 FESEAYE AR RAF X 50 | 1.0 —| - 45 45
2 EESIRYE L ARAT IR 50 | 1.1 = = 32 32
AL — | BRMR | LRMH bhYE LR LhYE
#BSE5 TH A AR Kk
1 FESRAYE AR fRAF 50 | 1.0 —  —#F 38 38
2 FEREE HARAE IR 50 | 1.1 — | 28f 28
3 LEEZER < AT R 50 | 1.1 - - 38 38
L Kk — | BRAR| LB LkYE b pLIE
#HE6 TH T LR (X I




1.

&F0 545 v R XK I
HXITE 4 : SeATh __ SREBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
L| #BIsF6 TH 1 FEESEAYJE R R X 50% 1.0% -’ fEP B{SEP 3§ ’
2 By E ORI 5 | 1.1 - - 28t 28
3 LEER LT 50 1.1 - —|#f 384 38
Ak X — | BRAR | PbME bHvE phME LU
i [iRcaglor | dEe
1 RGP 0 B A D —fel 30 62 | —
2 ERCEBR< AL IR 50 | L1 45 8oHt 49 49
b Xk — | BEAR | bhBE LhiE LhHE phEE
) B T LA X ek
1 R R sk PN 0D SR X Js = Y
2 ERLEFR ML R 50 | 1.1 —| T 48 48
LRIk — | BEHR | Ph¥E PR¥E phME RRYE
= & = — | B |t RRYE bR bR
H1~5TH Bt — | BEAR | PhME PR M PR
= B30 — | BEHR | Lb¥E bh¥E LhME HLTE
E#1~5TE gt — | AR | LhME LhHE kMR phIE
o & T LT X 50 | 1.1 = - 48t 48
(ke |1 — | B | Lb¥E MR MR LLTE
Byl 2TH Eetin — | BE# | PEHH EWE KV bt“!%‘
| FIR Eeei — | B | fhHE HME HME fhHE
FIK1-2TH AL P Ik 50 | L.1|d 43 e 50 50
ek AEz — | AR | h¥E M tl:i%‘
FIL3~6TH i — | BRR| IhMY HYE LM LhvE
SFGY it — | BSHR | LY LLVE LLYE LT
F1~3TEH =t — | BRRR | LbMY beYE LhMH LEUE
k| EiE T (LR X
1 ERH R R RIRAF H X 50 | 1.1 —[ 78 46 46
2 PEEE AR IR 50 | 1.1 —[F 9eH 34 34




ST 545 i = X 105
HXITE 4 : SeATh BRARBE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| Ha 3 EEE R AL KR 50% 1.1% ftf: 11§EP 4{;}: AE ’
T b Kk — | BSER | bW LR YR LRTE
7 —FEEE AT {L A X
1 BESR AR R SR X 50 | 1.1 —F 45 35 35
2 BERRELREKER 5 | 1.1 = 24 24
3 ERREER < W LA K 50 1.1 - —|f 354 35
ATl s — | R | PhBY bk pbiE bBE
A 1~4TH Eaeir — | BEAR | bhBE LhiE LhHE phEE
BE#EHM1TH T LA X ek
1 FRS R - B AR TT h X 50 | 1.0 —| | sl 61
2 FEapyEHRFRIR 5 | L.1 —|  —|# B0 50
LRIk — | BEHR | Ph¥E PR¥E phME RRYE
PERHFT 2 T H A LA Ik
1 FESEAOE AR R A X 5 | 1.0 = —|F sf 61
2 JESEER RTTOR 50 | .1 —|  —|# 504 50
b ik — | AR | LhME LhHE kMR phIE
id FF1TH TR R X g
1 SRR R B AR AT X 50 | 1.0 —| | 54 54
2 RSB HARAT KR 50 | 1.0 - —F 40 40
itk Rk — | B | fhHE HME HME fhHE
EH2TH e — | BRER | PLUE LLWE LYE LLYE
E#3TH A KRR b
1 FESAGRE AR R X 50 | L0 —Hr 68 s4h b4
2 SR L RAFRIER 50 | 1.0 — 87 40 40
[k A — | BRAR | LM bRME LEYE LM
RH4TH M RS K 50 | L.2 —t 72 54 54
L Kk — | BRAR| LB LkYE b pLIE
R#5TH T LR (X I




ST 545 i = X 11E
HXITE 4 : SeATh BRARBE
e R ks @ A o w4 [P PEEERTIBEITOGES
i =E5TH 1 SR AR B R A X 50% 1.0% - fEP 5243 5i i
2 By E ORI 5 | 1.0 =~ 40 40
A Kk — | BEMR | Pb¥Y bovE bhiH LY
5 Eeis — | BRAR | PbHE bRME phYE LM
HH1TH EaeiA — | BERR | kMY Ve bW LLYE
HH2TH T AR X 50 | 1.1 —F 84 45 45
ATl s — | R | PhBY bk pbiE bBE
HHE3TH AR X I 50 | L.1|% 43ff 84 45 45
L IR — | BEHR | Ph¥E Lk¥E  LRHE LRYE
Hm4TH AT LA X 50 I.1 - —|H 45 45
b E IRk — | BB bhHE LhHE LhHE LRYE
®WH5TH T LA K 50 | 1.1 —| | 48 45
[EEEIE (A% — | B |t RRYE bR bR
HHE6TH [iReaR ok dme
1 FESAYE AR R X 50 | 1.0 —| | 45+ 45
2 LREA R T LA PO 50 | 1.1 —|  —F 45 45
A X — | B | fhHE HhME HME fhEE
L Eeei — | B | Lb¥E MR MR LLTE
AN A LA KR
1 MABRLUACE L OLUEO R
(1) PR A LR (R Al X 50 | 1.0 —[F e9h 48 48
(2) B A B IR A R 50 | 1.0 —| a4y
(3)  EREAERR < W L aR K 50 | .1 - —|f 49% 49
2 RRAEMLARE R KO O il
(1) FRESEAYE R PR A7 X 50 Lo 44 69 48 48
(2)  FESEARE T ORAF X 50 | L1 —f 9t 34 34
(3) B ZBR < AT LAREE IR 50 1.1 —f 106/ 48 48
AT X% — | B | LB LRME LEHE LM




S 5FE5 i =R * 128
j;rﬁlzmﬂf%  SkET ____ ShABEE __
SR ks w0 W e w4 [P PERERTIEEETA RS

% e = * ® = # ®

W A1 ~4TH |28 — | iR | fh¥E ph¥E L I:I:Zj

E/F £ — | BRER | IhMY HYE LR LY

E/T1TH E=ei — | BEMR | Pb¥Y bovE bhiH LY
5/ F2TH AT LR X

1 FESAORE AR AR X 50 | 1.0 - —|h 48% 4§

2 FESRAR ARAFERI 50 | 1.1 —|  —F 3g 35

ATl s — | R | PhBY bk pbiE bBE

E/T3TH Eaeir — | BEAR | bhBE LhiE LhHE phEE
£/ TF4TH A A X 1

1 AR R R T X 50 | 1.0 — —|H 48 48

2 FEapyEHRFRIR 5 | L.1 —|  —|# 35t 35

3 LRk IR 50 L1 - —|F 48+ 48

[EEEIE (A% — | B |t RRYE bR bR

£/ F5TH T LA X 5 | 1.1 - —fF 3gF 35

T i — | BEHR | Lb¥E bh¥E LhME HLTE




